BT TRIA O - HEHHEE X T EFEJ'ZiGEOSH KIRHE
+H- I:I - 3 I:I
BT T2 | MR T8 T = BT T2 | MR8 T =%
HRX 37,862 87,200 41,700 45,500
RIRET1T 5 13 7 6
RIRET2T 24 53 25 28
RIRET3T 148 474 239 235
RIRET4T 386 998 485 513
B 563 1,538 756 782
REH 2,637 6,273 2,934 3,339
L&A 4,188 9,627 4,586 5,041
5E 2,484 5,999 2,898 3,101
B AN 1,228 2,837 1,340 1,497
BERT 1,116 1,800 851 949
BER2T 737 1,441 681 760
BHERST 394 913 456 457
g 2,247 4,154 1,988 2,166
BARE 251 652 328 324
= 2,194 5,299 2,492 2,807
hERE 596 1,424 650 774
e 2,350 5,238 2,523 2,715
25 L ET 2,255 5,277 2523 2,754
B &AL BT 69 153 61 92
HEFILET1T 589 1,303 617 686
HEFILET2T 595 1,368 650 718
HEZFILAT3T 565 1,343 653 690
g 1,818 4,167 1,981 2,186
B & it B Fr ET 669 1,643 808 835
BHEREBET1T 591 1,241 592 649
BHERERET2T 749 1,781 865 916
BHERERETST 769 1,681 767 914
HEFMHET4T 456 1,009 494 515
HEHFMHETST 792 1,663 798 865
HEHFHET6T 859 2,023 971 1,052
HEFRET7T 842 1,977 956 1,021
HERERETST 56 169 78 91
5| 5114 11544 5,521 6,023
HEF R FET 1,788 3,931 1,918 2,013
S|EFET1T 562 1,522 759 763
S|EFET2T 760 1,839 879 960
S|EFET3 T 732 1,494 711 783
g 2,054 4,855 2,349 2,506
ERE1T 553 1,348 653 695
EIRET2T 358 895 444 451
EREIST 463 1,337 650 687
EIRETAT 674 1,562 731 831
EIZEIST 476 979 494 485
g 2,524 6,121 2,972 3,149
MEH 2,796 6,402 3,031 3,371
J\THET1T 25 28 9 19
J\THET2T 24 62 31 31
J\THEI3T 57 129 62 67
B 106 219 102 117
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